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Supplementary File S2: Formulas for calculating carbon storage 

CS values are calculated formulas follows: 𝐶௜ = 𝐶௜ି௔௕௢௩௘ + 𝐶௜ି௕௟௢௪ + 𝐶௜ି௦௢௜௟ + 𝐶௜ିௗ௘௔ௗ (S1) 𝐶௧௢௧ =෍ 𝐶௜ × 𝑆௜௡௜ୀଵ  (S2) 

where 𝐶௜  is the total carbon density (t/ha) of land use type 𝑖 , 𝐶௜ି௔௕௢௩௘  is the aboveground 
carbon density (t/ha) of land use type 𝑖, and 𝐶௜ି௕௟௢௪ is the underground carbon density (t/ha) of 
land use type 𝑖. 𝐶௜ି௦௢௜௟ is the soil organic carbon density (t/ha) of land use type 𝑖, and 𝐶௜ିௗ௘௔ௗ 
is the dead organic carbon density (t/ha) of land use type 𝑖. Dead organic carbon data are difficult 
to obtain, and only three other carbon sinks are considered in this study. 𝐶௧௢௧ is the total CS (t) 
of the ecosystem, 𝑆௜ is the area of land use type 𝑖 (ha), and 𝑛 is the number of land use types 
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